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Change from behavior
to individual
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Information-Processing Model
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Information processing model
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CE71719 (short-term memory)
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CE717199 (short-term memory)
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27|71 (Long-term Memory)

» Unlimited space!

205N

“I forgot to make a back-up copy of my brain,
so everything I learned last semester was lost.”




» AL I (Episodic memory) - JH 019 HAE S X
He0F Dot S ot f oF &4
» 20| J|Y (Semantic memory) - &=A| ofl 2 =k}
A=, AR, e 2 8kel 77 S
»MAHX J|Y (Declarative memory) - oA
AP o] )|
» XA J|Y (Procedural memory) - Memory

for how to do things




off £+7]7]9{0] Obtl & 7| 7] 2f0
S 8ot

»EE217190| o] &5t 22 B
“Blanking out”

- SEOHA| BHLR V|9 =

v
>
1%
[}
>

v
O
Ot r.|o
N
=

P Al = FAL 719G &AL




7171 Vs Et7| 7| A

STM/WM

LTM

M2 &2k (52 items)

1.

=LL

0
o0
10

D

—

N

0l

1)

HOI._ 1o

oT 5_5 oT
— ol o]
[=)

N Hnu._r_; 1o <
= o] DF ]
5 3 I
J_.ﬂ_.t ol kKl T~
s H KR Wy
HH WY o=
TR0 OJR0 B3N
~ < Lo
Moo=
Hww =
Mo o
o o
o7 of  F W
U DF%0 = ol
k{0 ._Tm_;u_._Al m__g_,
D) = H I <
H 4 %0 ~J RO
~m < Lo




» £S5 3l (encoding) - L E Aol MEE

» O/l 2= B[99 01=F0) Blaot SEf < AL
»p Fol0let F ot MEataEl A J1990] gt
» OI= (retrieval) - 2D |Y0M HEE E

ot 2= +d

o

2
A
>~
0K
=
z
=l
hl
=
0):0
\
0If
0x
=
[P
U

>

O

[IN
0l




Memory Continuum
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» Chunking
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» 24 0] 20 2|0| 2& Encoding 2
» U+= (Rehearsal)
» &/’ (Elaboration)

» =%/ 2} (Organization)
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HF = 2 (Rehearsal):
Active vs. Passive
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» First letter method

» =2f O|2 (Rhymes and tunes)
» A (Method of loci)

» O|OF7| ™ (Story method)

» AZH (Link method)
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[ Information Processing Strategies

| Elaboration |
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[ Information Processing Strategies

| Elaboration |
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» 72 (Fluent
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(Flexible)-Think “stretching across al
egories’’;

Fluency vs. Flexibility
)-Think “being fluent in INP st
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Fluent - knowing a number of differe
strategies

> Bxample: MY Fluency Score = 6

Mnemonics Make a mental picture Summarize the
*First-Letter Method 1R E main ideasE
*Story Method .

Use a familiar tune and Creating Aflogies
make up a song with the—Q
Important facts

Caution ~ glways relying on the same type of

strategy makes it difficult (if hot impossible)
t0 use EFFECTIVE anhd EFFICIENT strategies




Flexible - the number of categories of sti
you know

» Example: MY Flexibility SCore = 3

Mnemonics Make a mental Summarize the
| R M nm
*First-Letter Method picture main ideas

Make upasong |2

Connect new info. to E
what | already know

Diagram the info. O

Khowing a humber of strategies (Fluency) in a
number of different Categories (Flexibility) will

enable You to be g StrategicC |earner.



Key Points
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